Week 2 - Questions

1. Given the following data set: 

	
	
	
	
	VALUES OF X 
	
	
	
	

	10 
	7 
	16 
	9 
	11 
	14 
	15 
	6 
	2 
	10 


a. Calculate the mean. 

b. Calculate the median. 

c. Calculate the mode. 

d. Calculate the range. 

e. Calculate the variance. 

f. Calculate the standard deviation. 

g. Calculate the coefficient of variation. 

2. MEALS-ON-TRACKS 

Contract specifications require (among other things) that Meals-On-Tracks, Inc., deliver 14,400 combat meals with a mean weight of 8.5 ounces.  You have been given a technical report with the results of a sample of 25 dry combat meals taken from today's shipment. The sample had a mean weight of 8.0 ounces and a standard deviation of .1 ounce. 
The contractor contends that the difference between the specified weight and the sample weight is due to sampling error. 
A. Is it likely that the contractor is right?
B. That is, would you accept the shipment? 
NOTE: Your supervisor has instructed you to use a 5 percent significance level for all statistical analysis.
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3. VOLUME CHEMICAL (This problem was intended to be solved using the computer.) You are involved in an analysis of the relationship between the cost and the volume of production. You have collected the following inflation-adjusted data.

	PRODUCTION UNITS 
	COSTS

	 700 
	$61,750 

	1,450 
	64,450 

	1,500 
	66,000 

	1,750 
	69,438 

	2,100 
	73,410 

	2,150 
	75,720 

	3,050 
	79,375 


Using the computer: 

1. Estimate the cost to produce 2,000 units. 

__________________________________
2. Determine the coefficient of determination (r2). 

r² = 
3. With a 90% confidence level determine whether to use this equation for estimating purposes. 

T = 

t =
4. What is the prediction interval for your estimate? 

At the 90 – confidence level the interval is:
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